The first AUG is the canonical start codon, but this sequence does not have a G following the
start codon (GCCAUGU).

haig | 18 bases
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T & & © © =~A T G T © - © A G ©

set (MM_w%, MR_%, and YF_%) — Annotation Release GOF_RAB061465,2
— e S - - T - R

The second AUG is in exon 2 which also does not have a G following the start codon
(GACAUGA).

haig | 18 bases

374, ASS | 47,574, 658 | 47,574, 675 | 47,5
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ib=et (MM_%, HMRE_%, and YF_%) — Annotation Eelesse GCF_AAAAA1465 .25,
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The third AUG is in exon 3, which does not have an A or a G three bp upstream of the start
codon (CGCAUGGQG).

heia | |16 bases
| 47,572,948 | 47,572,935 | 47,572,958
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